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SECTION - A
i) General Awareness

Name the current Chief of Air Force
Staff.

(A) B.S. Dhanoa

(B) R. K. S. Bhadauria

(C) Karambir Singh

(D) Bipin Rawat

How many permanent members are

there in the United Nations Security
Council ?

(A) 4
(C) 5

(B) 3
(D) 6

The Gandhi Solar Park (GSP) has been
recently inaugurated at headquarters of
which international organisation ?

(A) World Bank

(B) International Solar Alliance

(C) United Nations

(D) European Union

In which year did the atomic bombings
of Hiroshima and Nagasaki take place ?
(A) 1944 (B) 1945

(C) 1946 (D) 1947

Who has become the first Indian
wrestler to qualify for 2020 Tokyo
Olympics ?

(A) Vijender Singh

(B) Rakesh Advani

(C) Vinesh Phogat

(D) Pawan Kumar

6.

10.

State Duma is the lower house of which
country ?

(A) France
(C) Germany

(B) Russia
(D) Denmark

The Union Government has constituted
a committee to monitor solutions to
air pollution. What is the name of the
committee ?

(A) Harsh Vardhan committee
(B) C. K. Mishra committee
(C) Sunita Narain committee
(D) Bhure Lal committee

Who among the following is first Indian
to win an individual gold medal at any
Olympic Games ?

(A) P.T.Usha

(B) Rajyavardhan Singh Rathore

(C) Abhinav Bhindra

(D) P.V. Sindhu

The largest State in India by area is
(A) Rajasthan

(B) Andhra Pradesh

(C) Gujarat

(D) Uttar Pradesh

Kuno Palpur Wildlife Sanctuary is
located in which among the following
States ?

(A) Maharashtra
(B) Madhya Pradesh
(C) Odisha

(D) Rajasthan
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(C) Forwrwrme (C) s

(D) S FHR (D) USEI™
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12.

13.

14.

15.

RBI has recently tightened the reporting
norms for LRS. What does LRS stand
for ?

(A) Liberalized Remittance Scheme
(B) Liaison Remittance Scheme
(C) Liability Remittance Scheme

(D) Long Remittance Scheme

Which was the first currency note
released by Reserve Bank of India ?

(A) Five Rupees
(B) One Rupee
(C) Ten Rupees
(D) Hundred Rupees

The first-ever trilateral naval exercise
‘SITMEX’ was among India and which
countries ?

(A) Myanmar and Mauritius

(B) Singapore and Mauritius

(C) Myanmar and Thailand

(D) Singapore and Thailand

How many Articles are there in the
Indian Constitution currently ?

(A) 395 (B) 412

(C) 430 (D) 448

Who was the first Viceroy of India ?
(A) Lord Mayo

(B) Lord Irwin

(C) Lord Canning

(D) Lord Moutbatten

16.

¥

18.

19.

20.

World’s largest desert is
(A) Sahara (B) Kalahari
(C) Thar (D) Syrian

Which of the following city bagged the
title “India’s cleanest city” by Swachh
Survekshan - 2019 ?

(A) Patna
(B) Indore
(C) Kochi
(D) None of the above

First Chief Election Commissioner of
India was

(A) Ashok Kumar Sen
(B) Kalyan Sundaram
(C) Sukumar Sen
(D) Sampath

IMBEX 2018 — 19, bilateral army
exercise between which of the following
countries ?

(A) India and Madagascar
(B) India and Myanmar
(C) India and Maldives
(D) None of the above

How many times has the Indian male
cricket team won the World Cup ?

(A) 2
|B) 1
(C) 3
(D) 4
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11.

12.

13.

14.

15.

B 8 A TR SE. A UL AU, ¥
Taifén =1l =1 e o ® | T s,
1 Hacs F R ¢

(A) TorerETsSE fiftew =hm

B) fousm fiftiea whm

(C) wsfafafe ffie=a whm

(D) @ fifte~a whm

CRGIPHIE CEE-GUS IRE RIRI RIS R il
A HE-TT A1 ?

(A) Ufa T

(B) TH T

(C) @ ¥

(D) €&

el veen Gaefia e s feehes
A SR fo <37 o ofi= g 7

(A) HFER AR HfEE

(B) Ty 3w Hfter

(C) ™HHR 3R IHeis

(D) Ty AR g

T H SRR S § fohd sigse © 7
(A) 395 (B) 412

(C) 430 (D) 448

A o Tec] 1580 i o 7
(A) SiEaE '

(B) oIS R

(C) wTE HEm

(D) IS HI3eseA

16.

D 7 65

18.

19.

20.
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farva =1 o8 a2 A 8
(A) EE™ (B) wHeredt
(C) ur (D) Hifemg

Fraferfaa # @ fora wet 3 W= Taam-
2019 &1 ‘Wd & God s el
fgams erfre fema 7

(A) T

(B) TR

(C) =Hifed

(D) 3w & & FE T

AT % JoH J&F 919 g o
(A) TSI FHR T

(B) =head G

(C) GFAREA

(D) HUa

feuafar & 3rm@, IMBEX 2018 — 19
frafeftga # & fora 3w % ot g8 oft 7
(A) 9T 3T HIERTRER

(B) WA 3R =HHR

(C) WG 3R "reEad

(D) 3Iuger 8 & hrE T

el gey ferehe 4w 1 foraht e faw
FI AT ?

(A) 2

B) 1

(C) 3

(D) 4
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21,

22.

23.

24.

25.

ii) General Intelligence and Reasoning Ability

In the following series, a wrong number
is given. Find the wrong number.

1,2, 4,7,28, 140, 198, 205
(A) 198 (B) 4
(C) 205 (D) 140

Find the next letter in the series.
A B DH,__
(A) L
(C) P

(B) N
(D) R

Identify the relationship between the
two numbers in the first pair and find the
missing number in the second pair so
that it continues the same relationship.

14240537
(A) 68 (B) 92
(C) 78 (D) 84.

Complete the analogous pair.
Train : Track : : Bus :

(A) Driver

(B) Conductor

(C) Road

(D) Passengers

In a certain code language, if the word
REJECTION is coded as SGMIHZPWW,
then how is the word MECHANIC coded
in that language ?

(A) NGFLFTPK (B) NGPLFTPK

(C) NGFKFTPK (D) NGPTPKIL

26.

27.

28.

29.

30.

In a certain code language, if the number
1 is assigned to all the letters in odd
numbered places in the alphabet and
the remaining letters are assigned the
number 2, then what is the code for the
word INDIAN ?

(A) 122112 (B) 121212

(C) 111222 (D) 121221

Find the odd one among the following.
(A) Baseball (B) Boxing

(C) Chess (D) Squash
Choose the number which is different
from others in the group.

(A) 48 (B) 50

(C) 82 (D) 170

If 15 Jan., 1992 is a Tuesday, then on
which day of the week will 1% Jan., 1993
fall ?

(A) Wednesday
(C) Friday

(B) Thursday
(D) Saturday

If — stands for x, x stands for +, + stands
for = and = stands for —, then what is
thevalueof 9 -18x15+3-6x 12 7

(B) 30
(D) 42

(A) 24
() 33
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i) ST gl qen aifches ArEEn

Fr=fafaa gaen & v Ted e
B | TTTa T I R
1,2, 4,7, 28, 140, 198, 205

(A) 198 (B) 4

(C) 205 (D) 140

ST H ITTAT &R T e |

A B,DH,__

(A) L (B) N

C) P (D) R

SoH I § 3 Gl & offe Gay Te=ne
I E W H ot TR T i dTieh THIA
Ty FR @ |

e 24 375

(A) 68 (B) 92

(C) 78 (D) 84
THEY T 0 |

iawﬁ:qzﬂ A b B

(A) =TT

(B) uf=metsh

(C) &=%

(D) =mft

TS e 91§ IfE 31658 REJECTION

% SGMIHZPWW forat sire 2, ot 1sa
MECHANIC %I 341 ST1 H 8 e
HaT ?

(A) NGFLFTPK

(B) NGPLFTPK

(C) NGFKFTPK

(D) NGPTPKIL

26.

oF,

28.

29.

30.

U e 9T H, IS quimren | fowm e
T o 78R 1 HEAT 1 3 < ST SR 5¢
39870 =Rl GEAT 2 2 41 1Y, & 915 INDIAN
Ffomwen g ?

(A) 122112 (B) 121212
(C) 111222 (D) 121221
fFrafafga @ @ g i Ia = |
(A) sEsite (B) gaRaSI
(C) vt (D) T
& T A SN T & AT G
IFTTE |

(A) 48 (B) 50

(C) 82 (D) 170

Ife 1 S 1992 WielaR &, O I« &
Fi-7 f&7 1 Sadt 1993 B 7

(A) FEET (B) TR
(C) AR (D) wfHER

e — T Y x B, x T3S + B, + H
d -8 A WA -7 Al

9+ 18 x 15+ 3 — 6 x 12 & UH F41
BRI 2
(A) 24 (B) 30

(C) 33 (D) 42
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31.

32.

35.

If ‘white’ is called ‘Blue’, ‘Blue’ is called
‘Red’ ‘Red’ is called ‘Yellow’, ‘Yellow’ is
called ‘Green’, ‘Green is called ‘Black’,
‘Black’ is called ‘Violet’ and ‘Violet is
called ‘Orange’, what would be the colour
of human blood ?

(A) Red
(C) Yellow

(B) Green
(D) Orange

Pointing towards a person, a man said
to a woman, “His mother is the only
daughter of your father”. How is the
woman related to that person ?

(A) Daughter (B) Sister
(C) Mother (D) Wite

Complete the analogy.
Karnataka : Bangalore : : Kerala :
(A) Cochin

(B) Coimbatore

(C) Ernakulam

(D) Thiruvananthapuram

Complete the analogy.
258

(A) 3:27
(C) 5:50

(B) 8:16
(D) 4:12

Select the words which is least like other
words in the group.

(A) Algebra

(B) Geometry
(C) Arithmetic
(D) Optometry

36.

37.

38.

39.

40.

Select the odd one.
(A) CH (B) KP
(C) Uz (D) M

The 12" term of the series

Y3, 9 75 n 1S
(A) 21 (B) 23
(C) 19 (D) 17

Complete the matrix.

9 9 | 162
6 8 ?
(A) 90
(B) 100
(C) 110
(D) 120

If TAIL is coded as VCKN, how
is PEACE be coded in that code
language ?

(A) RGCEG

(B) QFBDF

(C) RDZBD

(D) QECEG

In a certain code, 274 means ‘spread
the carpet’, 254 means ‘dust the carpet’
and 234 means ‘roll the carpet’. Which
digit in the code means ‘dust’ ?

(A) 5 B) 7
(C) 3 (D) 4
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31.

32.

35.

PR |he = e, Sfer ® e,
%I AT, HIAT H STHD AT S
Sl TR FET ST R, A A W
T8 7

(A) <=

(B) =1

(C) drmm

(D) et

T Sf <hl ST 3R L §Y, U AfH
9 U Tfee ¥ e, S 71 e e
&l THAE o1 2 | 98 Aigen 39 Hfaq ¥
FY gafta e ?
(A) e
(C) =t

FHETAT 07 |
m‘haa:ﬁﬂqa: : O
(A) I

(B) S

(C) wwigem

(D) fowemagm

TS 07 i |
218

(A) 3:27
(C) 5:50

IE 3158 AT S 9 * I YIs3l § Tl
o frear g |

(A) sfsriora

(B) wfa

(C) 3T

(D) gfeefifa

(B) =&
(D) et

(B) 8:16
(D) 4:12

36.

37.

38.

39.

40.
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e o g |
(A) CH (B) KP
(C) Uz (D) IM

JGA 1,3,5,7, .. F12d B2
(B) 23
(D) 17

(A) 21
() 19
TR 01 . |
9 9 | 162
6 8 ?

(A) 90
(B) 100
() 110
(D) 120

Ifg TAIL %1 %2 VCKN ®, df PEACE &

e 3 wrT & @ ERT 7
(A) RGCEG (B) QFBDF
(C) RDZBD (D) QECEG

Teh He T 274 % 379 ‘spread the carpet’
2, 254 %1379 ‘dust the carpet’ & 31234
&1 314 ‘roll the carpet’ ® | &2 ¥ ford 37
1 3719 ‘dust’ ® ?

(A) 5

B) 7

(C) 38

(D) 4
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41.

42.

43.

45.
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iii) Arithmetical and Numerical Ability

2 2
Evaluate ieo9) —{ley :

2.39-1.61
(A) 2 (B) 4
(C) 6 (D) 8

If Ms. Preeti had walked 2 km/hr faster,
she would take 60 minutes less to cover
the distance of 12 kms. Then the normal
speed of her is
(A) 3 km/hr

(C) 6 km/hr

(B) 2 km/hr
(D) 4 km/hr

The average of six numbers is 3.95. The
average of two of them is 3.4, while the
average of the other two is 3.85. What
is the average of the remaining two
numbers ?
(A) 45

(C) 4.7

(B) 4.6
(D) 4.8

A man is 24 years older than his son.
In two years, his age will be twice the
age of his son. The present age of his
son is

(A) 14 years
(B) 18 years
(C) 20 years
(D) 22 years

If 35% of a number is 12 less than 50%
of that number, then the number is

(A) 40 (B) 50
(C) 60 (D) 80

46.

47.

48.

49.

50.

51.

If 7 spiders make 7 webs in 7 days, then
1 spider will make 1 web in how many
days ?

By 7
(A) 1 ()2

€) 7 (D) 49

The first Republic Day of India was
celebrated on 26" January, 1950. It
was

(A) Tuesday

(C) Thursday

(B) Wednesday
(D) Friday

Find the odd man out.

8, 27, 64, 100, 125, 216, 343
(A) 27 (B) 100
(C) 125 (D) 343

Find the next term in the alpha-numeric
series.

Z1A, X2D, V6G, T21J, R88M, P445P, ?
(A) N2676S (B) N2676T
(C) T2670N (D) T2676N

Find out the next term.
ADE :FGJ::KNO:?
(A) PQR (B)
(C) RQP (D)

PQT
TPR

(S o _
if|5 p _q | is @ skew-symmetric
c 10

matrix, then the value ofa + b + ¢ =
(A) -5 (B) 0
(C) 5 (D) None of these
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(2.39)% - (1.61)°

2.39-1.61 RLLELE
(A) 2 (B) 4
(C) 6 (D) 8

afe gaft siifa 7 2 feredt / wier ot = g, A
12 foreft 1 gt 7 & 1 3% 60 e 1
ST | 3R TR T ®

(A) 3fedfi/smr (B) 2 fadi/=
(C) efwdft/aar (D) 4 Tt/ aan

6 TEATS I A 3.95 2 | 390 § A H
3TEd 3.4 &, Seih 3 A H AEq 3.85 % |
=it g% < T o 3fd 91 |

(A) 4.5 (B) 4.6

(C) 4.7 (D) 4.8

Ueh Sfed 3794 9 ¥ 24 99 1§ | 31 a8
§ 3gehi 311Y 3T ofe i 31 Fit A Rt
3G S hil FAHH T B

(A) 1499

(B) 18a%

(C) 20a9

(D) 2234

I3 T T 1 35% I6H 50% H 12 FH
2, arEET
(A) 40
(C) 60

(B) 50
(D) 80

46.

47.

48.

49.

50.

51.
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Ife 7 wepfeat 7 Tt § 7 St w9t €, At

1 Heel 1 Sren forae oot & sty ?
(A) 1 B) L

2
C) 7 (D) 49

YT =l T8 T0TGF fead 26 SHadt, 1950
ol T T | 98 o

(A) WTEER (B) FuaR
(C) TRaR (D) Al
gaun =1 ra =l

8, 27, 64, 100, 125, 216, 343
(A) 27 (B) 100
(C) 125 (D) 343

T ~TEAT FEAT | ST IE T |
Z1A, X2D, V6G, T21J, R88M, P445P, ?

(A) N2676S (B) N2676T
(C) T2670N (D) T2676N
ST 92 F1d |

ADE : FGJ:: KNO: ?

(A) PQR (B) PQT
(C) RQP (D) TPR

Ife

0 a 3
5 b _1@%@—@%3@5
1 0

%,?ﬁa+b+c$lrﬂ:l%

(A) -5
(C) 5

(B) 0
(D) =9 & IS 7
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If x means +, + means =, —means x and
~means —, then8x7—-8+40+2="7

2

(A) 1 (B) 75
3

(C) BE (D) 44

The age of a father is twice that of the
elder son. Ten years hence, the age of
the father will be three times that of the
younger son. If the difference of ages
of the two sons is 15 years, the age of
the father is

(A) 50 years (B) 55 years

(C) 60 years (D) 70 years

If A>B, B>CandC > D, then which
of the following conclusions is definitely

wrong ?
(A) A>D (B) A>C
(C) D>A (D) B>D

Insert the missing number.

7 iy

5 | 3
(A) 10 (B) 12
(C) 18 (D) 15

56.

7.

99.

60.

If you are facing north-east and move
10 m forward, turn left and move 7.5 m,
then you are

(A) North of your initial position
(B) South of your initial position
(C) East of your initial position
(D) None of these

Find the missing number.
0, 6, 24, 60, 120, 210, ?

(A) 240 (B) 290

(C) 336 (D) 504

Mumbai : Maharashira : : Gandhinagar : ?
(A) Kolkata (B) Guijarat

(C) Kerala (D) Sikkim

Choose the analogous pair.
Sonnet : Poem : :

(A) Lie : Falsehood

(B) Chapter : Book

(C) Murder : Crime

(D) Ballad : Stanza

The point on the curve y? = x, where
the tangent makes an angle of % with

o (34

(D) (4,2)

X axis is
(A) (1,1)

© (3
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52.

53.

55.
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Ife x 1 A9 + B, + 1 7Y « B, — 7 379
X%a:ﬁ'{+iﬁf3ﬁf—%,fﬁ
8x7-8+40+:2=7

2

(A) 1 (B~ Te
3

©) 8 (D) 44

framfit s s s A YA A 2 178
T =18 ToaT i 371G Bie =i il 31 ol fawpHAr
Brit | 3fe 3 et Fit ong A 15 99 B,
ar foan it 3y 2
(A) 509
(C) 60T

(B) 5599
(D) 7099

I A>B, B>C 3R C >DE,arfiefefiaa
H Y -1 e AfRa s g ea e ?

(A) A>D (B) A>C
(C) D>A (D) B>D
e T 14 |

1

3
(A) 10 (B) 12
(C) 13 (D) 15

56.

57.

58.

59.

60.
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afe TR 7@ I H 3 R IR A
10 #i. 3P I &, 90 §ed & 37 7.5 Hi.
IeTd &, Tl 379 &

(A) A0 IR feufd & S A

(B) ATt st fedrfa o afémor &

(C) 1ot oy fufa s ga &

(D) T E FE T

e G J1d H |

0, 6, 24, 60, 120, 210, ?

(B) 290

(D) 504

(A) 240
(C) 336

Qaé:m::m%ﬁm:?
(A) I (B) TSR
(C) F« (D) fufewem

THEY I AT |
'Fh?lzta’;%?ﬂ::

(A) 93 : AFHM
(B) J¥H : g+
(C) &AM : A9
(D) Terfid : dren

y? = x 95 W foig, et wost T x gt % 91
/) 1 IO ST &
11
®) [3’5]

® (.1
© (3i] ©@w@2
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61.

62.
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iv) Hindi Language and Comprehension

&=t W iy

o9 9T W = ‘T 98 A 9
g ?

(A) 3= IE

(B) dcIEN

(C) &=

(D) fam

‘e 7 Tt || I 9T vEarsT §
BT ®

(A) T =T el S |

(B) T & et el STt |

(C) T & et Wt |

(D) T Y AT AR T |

i + TR = ‘TeGIHR DA H
afr g ?

(A) Fraaf

(B) TUTHf

(C) v &Y

(D) < afy

TR T8 1 S wE S A e 7
(A) T

(B) =™

(C) sy

(D) W&

TRl U © 31fesh quit <l &t IR AT St
2, 981 T 91 JEHR BT @ ¢
(A) BT

(B) vy

(C) Tshifaa

(D) Iea

66.

67.

68.

69.

70.

frafafaa & & ‘ma’ w vaEigaE e
TR

(A) =g

(B) iuen

(C) ™

(D) 93

ST IUHY T ITHH T 9V 2, F&
FH G AAFR AT @ 7

(A) 9%

(B) vy

(C) T

(D) Fifaa
frafafaa 3 @ “vem’ 1 wafgar wee
TR

(A) gL

(B) TSR

(C) &3

(D) T

T Y HE T EAT geral 1 3y 7
(A) =TI FE

(B) HfeATS § geT

(C) T it 7 feer

(D) Y § T B SHT

‘T’ w753 1 SgIE €9 ©
(A) &
(B) TEr
(C) aftgat



71. TCgEY THE H
(A) TEI EUS T THE BT ¢ |

(B) T 1YaT 2ifoH @Ue o B # |

(C) i @S YU B & |

(D) M1 WU YHH 7 Bt TuEd ug freht

TN F NIF B B |

72 . ‘OWEER OeE i aTEi oed || smars

o ‘TeF 1 9e Uiy i |

(A) Sifaarss g3, giee, aga=r,

FhIh, TSd fshaT T Sl

(B) WradT=® €91, Yfed, sgaed,

FHFNF, TS HaT 1 FH

(C) =afaraT=re T3, Yfeei, Sgae, T

FRH, ASd (a1 F1HH

(D) =T a3, e, Sga=,

FHERE, Sd 15HIT 1 FH

73. ‘U@ S5 % HH G ® | ;R e

HFAF G 2 7
(A) 3951

(B) ¥

(C) whifad
(D) FH=H

74. Tr=fafea d @ g adt =1 ===
i |
(A) Tauif@
(B) aifa
(C) frufta
(D) Feffa
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75.

76.

P

78.

79.

80.
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‘ST & ST T | e ot @
(A) fafesa g
(B) 18I HE HTAT

(C) F=MfH & st ST
(D) TR M T

&l il § U Ie8 & Uk ¥ 3AfYH 374
B &, J8l a1 ST A2 7

(A) I

(B) aghIfad

(C) &

(D) Jeuam

g + G = FFIG ST G 7 ?
(A) Fo &Y
(B) ot
(C) < Efy
(D) Ffa @ty

il act STt TEET gerat i 37y @
(A) AT Yehe FHHAT

(B) sasfid B S

(C) & B

(D) 3cdq wifssid 8T

‘ereft’ 3167 T A=A ¥ &
(A) =refaT

(B) ®meft

(C) =fad

(D) e

TS 1 R = TEE I8 HiFd
gaE R ?

(A) F=ft I

(B) dcIeN

(C) wgshfe

(D) &
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v) English Language and Comprehension
I AT SR Y

Fill in the blanks with suitable preposition.

81.

82.

| have been learning driving
eight hours.

(A) since
(B) for
(C) from
(D) in

The property was divided
the two sisters.

(A) among
(B) for
(C) between
(D) in

Give one word substitutes for the following.

83.

84.

A soldier who fights for the sake of
money.

(A) Meticulous
(B) Misogynist
(C) Mercenary
(D) Lessor

The introductory part of a poem.
(A) Monologue

(B) Prologue

(C) Epilogue

(D) Epic

Select simple sentence from the following.

85.

-16-

(A)
(B

Tell me where you live.

| have no advice that | can offer
you.

(C)

(D) He declared his innocence.

How long | shall stay is doubiful.

86.

87.

88.

89.

90.

We came upon a peasant’s hut.

He remarked how impudent the boy
was.
Youth is the time when the seeds
of character are sown.
The moment which is lost is lost for
ever.

(A)
(B)

(C)

(D)

Choose the synonym of the given words.

ABSURD

(A) Ridiculous
(B) Realistic
(C) Powerful
(D) Reasonable

CONSCIENTIOUS
(A) Dishonest
(B) Unjust

(C) Immoral

(D) Scrupulous

Complete the following using correct option.

| was alarmed lest

(A) we were not wrecked
(B) we could not wrecked
(C) we should not wrecked
(D) we should be wrecked

Except a man be born again,

(A) he cannot see the kingdom of
God

he can see the kingdom of God
he will see the kingdom of God

he is able to see the kingdom of
God

(B)
(C)
(D)
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Fill in the blanks with suitable articles if
necessary.

91.

92.

Sonal is richest man in

Mumbai.

(A) the

(B) a

(C) an

(D) no article needed

Houses are built of bricks

and cement.

(A) a

(B) an

(C) the

(D) no article needed

Identify the figure of speech used in the
following sentence.

93.

94.

“She accepted it as the kind cruelty of
the surgeon’s knife.”

(A) Euphemism
(B) Oxymoron
(C) Simile

(D) Epigram

“Life is a dream.”
(A) Simile

(B) Metaphore
(C) Apostrophe
(D) Pun

Fill in the blanks with correct adjective or
adverb from the options given.

95.

=-17-

One of the choir members was
singing

(A) flatly

(B) flat

(C) deeply

(D) none of the above

96.
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The door was open so | just

went straight in.
(A) wide
(B) widely
(C) shorty
(D) short

Identify the correct spelling.

o7,

98.

ACCUMULLATE
ACCUMMULATE
ACCUMULATE
ACUMULLATE

(A)
(B)
(C)
(D)

PERSUIT
PURSUIT
PERSOOT
PERSUET

(A)
(B)
(©)
(D)

Choose the antonym of the words.

99.

100.

NEBULOUS
(A) Distinct
(B) Sober
(C) Grave
(D) Serious

RECEDE

(A) Abhorrent
(B) Scornful
(C) Advance
(D) Disdainful
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101.

102.

108.

104.

105.

106.
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SECTION -B

Post Specific Subject — Related Questions

The first school for the visually impaired
in India was founded at

(A) Delhi (B) Amritsar
(C) Kanpur (D) Agra

The Persons with Disabilities Act was
enacted in the year

(A) 1994
(C) 1996

(B) 1995
(D) 1997

International Year of Disabled Persons
was observed in the year

(A) 1980 (B) 1981
(C) 1982 (D) 1983

The first school for the visually impaired
was established in

(A) London
(C) Paris

(B) Melbourne
(D) Pennsylvania

The Manual on Training in the Community
for People with Disabilities was published
by

(A) WHO

(B) UNICEF

(C) UNESCO

(D) CARE International

Which of the following is a cause of
visual impairment in India ?

(A) Trachoma
(B) Glaucoma
(C) Cataract
(D) All of the above

107.

108.

109.

110.

1 1

The central scheme of integrated
education for the disabled was evolved
by the Ministry of

(A) Education

(B) Health and Family Welfare

(C) Social Justice and Empowerment
(D) Women and Child Development

Visual impairment is associated with
(A) Photophobia

(B) General Surgery

(C) Hydrophobia

(D) None of the above

Tear gas is produced from
(A) Ethyliodo-acetate

(B) Bromo-benzyl Cyanide
(C) Diphenyl-cynarsine
(D) Both (A) and (B)

Signs to watch for early detection of
visual impairment

(A) Eyes are crossed

(B) Cannot see distant things clearly
(C) Does not notice colour difference
(D) All of the above

It is a chronic contagious disease of the
conjunctiva and cornea caused by an
organism chlamydia

(A) Retinopathy
(B) Glaucoma
(C) Trachoma
(D) Retinoblastoma
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103.

104.

105.
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HAT -

U wfatees ea—-dadt ysa

gheatfeat & fou wean faemem wia #

H @t T |
(A) feeeht (B) smast
(C) +FY (D) I
feeamm =afaa stfufrem o H
sttt e |
(A) 1994 (B) 1995
(C) 1996 (D) 1997
Faure i fesam safa ad o
ST foRan T |
(A) 1980 (B) 1981
(C) 1982 (D) 1983

gfteanfeal & o een foamem 1
Qe T |

(A) @& (B) TersH

(C) ufw (D) uferafn
femarm safFat 7 wger & ufnem w srgew
g FT WehTYTE =i 7T |

(A) WHO

(B) UNICEF

(C) UNESCO

(D) CARE 3Rd

forferiaa o & i -a1 u wia # gResfiar
FIFHR 2 ?

(A) S

(B) eI

(C) wifeanfee

(D) 3% gsht
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107. fe=am ¥g i fren it s Tiwmn

108.

109.

110.

111.

T ER foenita #h 8 |

(A) farem

(B) ey U9 URER FHedol
(C) wmTfsre =T ud HeTfaasho
(D) wften wd s fawmE

gfeaforar _ ASER
(A) BRI

(B) TmT=I STeafsRa

(C) ETEgrIferT

(D) 3% & § FI3 TE

¥ 317 g TS STt 2 |
(A) zemsferstiel-uftee
(B) SHI-SFITEe HIEIES
(C) eTitTger-ATg T
(D) (A) R (B) i

giteanfirar & smfirs &9 4 var & &
o 8

(A) frsh i@

(B) T i 3%y T 7 <@ UM

(C) FurfeR 7 <@ 9HT

(D) I @it

TE FAUTSISTT S G BH ATl sherEian
3T i1 1 T SeehIieTeh GehHE U 2
(A) s

(B) wghrl

(C) T

(D) YfeArsam2m
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112.

113.

114.

115.

116.

117.

India has launched the National
Programme on Control of Blindness in
the year
(A) 1960
(C) 1962

(B) 1961
(D) 1963

The District Blindness Control Societies

were established to promote
(A) Eye care at the grass root level
(B) referrais

(C) Eye care at the primary health care
level

(D) Linkages

The major benefits of use of technology
are

(A) New Avenues of Employment
(B) Range of Services

(C) Integration

(D) All of the above

Braillers and Abacus are examples of
devices.

(A) Mobility (B) Educational
(C) Psychological (D) Vocational

Which one of the following does not
come under the category of assistive
device for the visually impaired ?

(A) Educational
(B) Vocational
(C) Mobility

(D) Developmental

A low vision individual having an access
to internet through appropriate software
is an example of

(A) Assistance
(B) Providing services
(C) Integration
(D) None of the above

118.

1318.

120.

121

122,

000 00O O O 0

is an instrument used to
measure body angles.

(A) Goniometer

(B) Braille micrometer
(C) Continuity tester
(D) Magnifier

The talking alarm clock and the talking
wrist watch are examples of

(A) Daily living devices
(B) Vocational devices
(C) Psychological devices
(D) Educational devices

A low vision device which is handy
in close work with both hands free is
called

(A) Book Magnifier

(B) Magnifying Binoculars

(C) Super Loupe

(D) Eye Loupe

The Blind People’s Association with
the design support of the National
Institute of Design and Financial
Support of the Sense International
has set up the Vision Stimulation Room
for
(A) Treatment of children with
disabilities

Prevention of disabilities
Sensory stimulation of children
with multiple disabilities

Diagnosis of vision disability

(B)
(C)

(D)

The test used for the fine tactile
discrimination is known as

(A) Minnesota Rate of Manipulation
(B) Stanford Kohls Block Design Test
(C) Purdue Pegboard

(D) Crawford Dexterity Test
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118.

114.

115.

116.

117.
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R o 3t o W s weiwn ad

_ HyEgen|

(A) 1960

(C) 1962

e stvar Feao g £l

aTid 6 & fore Tonfya =it 1 |

(A) STHH TR W ATE i @I

(B) wesd

(C) It WRea TEvTe &R W AT@l
SERI

(B) 1961
(D) 1963

(D) Iz

1R o TERT % J&T A &

(A) TSFTR 3 7T TR

(B) Gaadi it Fofi

(C) whirtm

(D) 3% g+ft

SR MU 39N 6 e R |
(A) T (B) Stafors

(C) mrawnfa= (D) ==aTfas
frefeafaa # & #H-a1 w gieafial 29
eI YN i Juft 3 Sariq Te1 3741 ?
(A) Steaform (B) =t

(C) TreaTenhan (D) fearerraTeas

T 3 it et S g S HiwRE
TR THIET 1 U5 K 8 |
(A) TERa

(B) TaTd 3eise AT

(C) wehrhamr

(D) 3% H | IS Tl

118.

119.

120.

121.

122.
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IR 101 A9 8§ Y T
ITH 2 | '
(A) Mg
(B) St ATSHHIT
(C) ftawar wlier=
(D) smad=®

e arelt stem ot i Se areft Fers
U€l_ HIIEEOE |

(A) Tt & Sfaa & Iy

(B) STaHTRE IUHI

(C) TS 3T

(D) eafiren Iustor

e et gfR e it 2Nl el = i Sea
F F °§ g B, FEAT & |
(A) TETh A

(B) STaeih gl

(C) qu=msy

(D) 31 @3

e 3R T fesméa % feand gema
3R T YA & 99 TEEd § sARe
fiuew wEifeuyE 3 fasm fegesm v it
TG AR

(A) fe=am s==i =1 3TER

(B) Te=amman i Tshem

(C) rg-fe=am srat % FHfsa e

(D) 3R fesammar =1 fiem

I TI91 9T o fore g e
FaA ¢ |

(A) TorEr E A1fe Ao

(B) RhIS FiecH sciish fSuiTed TLiemoy
(C) Weyg Wrare

(D) FIHE TR Tl
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123. The National Policy on Education was

enacted in the year
(A) 1984 (B) 1985
(C) 1986 (D) 1987

124. The apex institution for the co-ordination

125.

126.

127.
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of variety of activities for the visually
impaired in the country is called

(A) National Institute for the Specially
Abled People

National Institute for Persons with
Disabilities

National Institute for the Visually
Impaired

None of the above

(B)
(©)

(D)

The skills which enable people with
Visual impairment to use sensory
information to know their location in
different settings is

(A) Adaptability skills
(B) Development skills
(C) Orientation skills

(D) Mobility skills

The technique is used in familiar
indoor areas, in which the cane is held
in one hand and is positioned diagonally
across and in front of the body.

(A) Diagonal cane
(B) Constant-contact
(C) Two-point touch
(D) Touch

At school age, the parent or teacher
need to observe if the child

(A) Has too good attention span

(B) Skips words and had difficulty in
remembering

Grasps while reading
All of the above

(€)
(D)

128.

128.

130.

131.

132.

| ER 00 00O 0 00

The first and foremost advantages
of adopting technology would be
development of

assistive devices.

(A) Appropriate

(B) Accessible

(C) Both (A) and (B)
(D) None of the above

The support services for the visually
impaired must include

(A) Counselling
(B) Information
(C) Referral

(D) Al of the above

The visual impaired person can use this
device without others help

(A) Speech synthesiser
(B) Digital tapeless recorder
(C) Microsoft synthesiser
(D) Product design

In order to encourage the use of residual
vision, the foremost information needed
about each person with low vision is his/
her

(A) Visual Acuity (near and distance)
(B) Colour Vision

(C) Day Vision

(D) All of the above

A map on which information is perceptible
to touch is known as

(A) Eco map

(B) Thematic map
(C) Tactile map
(D) Cadastral map



123.

124.

125.

126.

127.

-23-

e w o i ad
% |

(A) 1984

(C) 1986

(B) 1985
(D) 1987

3w # gt 2g nfafafe i fafaum &
=g 7g Iy Tem FEATI B |
(A) Tasis =a ST 8 TS Hea™

(B) fe=amt sm &g Ui wEH

(C) gfeesnierat &g Ui wea™

(D) 39§ | =i T&I

I8 FIvd ot gfeanfia =feaai it IHEa
=1 1 3 Aty feafat 4 et fef
S 8 T AT 8

(A) STIEET T

(B) fermrma #twret

(C) 3@ &I

(D) TeATHHAT I

AT SH-YeeH SAaies el d
TR BTt & STRT Uk €19 H s Tt S 8 3
IR 3 A 3 foeoff &9 @ it St R )
(A) Taepoft sia (B) Fraa—aas

(C) fg-forg wei (D) wast

Torener & 311g § "iaT-TUan 1 AT Hi
@1 BT & T 3l ser

(A) i & 33 Y Ay =St B

(B) viee B ¥ & 2N I T B R 2Rl
(C) Uga Ty BV FaT &

(D) 3 asft

H At

128.

129.

130.

131.

132.
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A1 AT T el S g 21 A1y
M HwEEs gl @ e |
(A) 3uged

(B) g™

(C) (A) 3R (B) ZH

(D) 3% | ¥ FIE &I

gfeeanfeat & fore wergs Samsii
mie ® |

(A) Fr3afem

(B) gz

(C) @ed

(D) 3 @t

gfeeaiem =afa 38 3uaor 1y fomr faeft
=t TR % T Gehd &

(A) a7 HIATH

(B) fefoest 2uety it

(C) WIEHETR TYeIYh

(D) 3crE fesirer

srafire gfe % wEm # e 23 ¥ e
o Frer o 3 safe & a3 aifsa veeh
EIECATiRS

(A) 3fe dhewran (fhe 3l %)

(B) =i gfee

(C) femngfe

(D) IFa g+t

e B IEER R SRR SN E R C e
B2 |

(A) F! A9

(B) ofmifem Ay

(C) wviig amfam

(D) ¥ (Fewge) M
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133.

134.

135.

136.

137.

138.
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The instructional and employment
services for the visually impaired
must take care of

(A) Fitness
(C) Orientation

(B) Mobility
(D) Both (B)and (C)

It is recommended that which of the
following occupations should be
included in all the training institutions
for visually impaired ?

(A) Computer application

(B) E- commerce

(C) Medical Transcription

(D) All of the above

teaches the visual impaired
student to travel with proficiency, safety
and confidence.

(A) Orientation and Mobility training
(B) Vestibule training

(C) Quality training

(D) Plyometric training

Identify the areas of instruction for
Orientation and Mobility.

(A) Daily living skills

(B) Use of public transportation
systems

Skills for independent living

All of the above

(©)
(D)

is important in order to
understand the emotional status and
individual needs of the client.

(A) Diagnosing (B) Interviewing
(C) Treatment (D) Investigation

The systematic use of head and eye
movement to search for targets is
termed as

(A) Scanning
(C) Monitoring

(B) Tracking
(D) Identifying

139.

140.

141.

142.

143.

Which one of the following is not
an exercise of visual skills for the
enhancement of visual functioning ?

(A) Fixation exercises
(B) Monitoring exercises
(C) Tracking exercises
(D) Spotting exercises

Identify the difficulty faced by children
with limited field of vision.

(A) Functioning in day light
(B) Finding objects

(C) With dependent mobility
(D) Listening effectively

Which of the following daily tasks
is not affected by Low Vision ?

(A) Reading textbooks
(B) Listening to music
(C) Identifying money
(D) Traveling at night

Visually following a moving object is
called

(A) Stocking
(B) Tracking
(C) Monitoring
(D) None of the above

Low vision individuals are best helped
with low vision devices such as

(A) large print
(B) magnifiers
(C) illumination
(D) all of the above
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133.

134.

1385.

136.

137.

138.
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q@aﬁﬁ%mﬁﬁﬁmaﬁiﬂmﬂéﬂaﬁ
1 €I TET 91T |

(B) TTeITeHST

(D) (B) 3 (C) 3

(A) gewdt
(C) &

freferfs 1 @ -8 s # g
¥q weft e 1 & et e = 78
oA R T R 7

(A) e SIS

(B) $-anforsy

(C) Ffheaehi fereaiawor

(D) 3% asft

gfeeafer farenfiat =t e,
gran iR fovar & ar awn e e |
(A) ST 3R TeTeTsRaT gfnEm

(B) wehrss wfsteor

(C) ToreraTyo Sif¥rar

(D) e gfteo

mmaﬂtnm%gﬁ%sﬁ%éa
TR |

(A) = Sfiaq =

(B) Trewifer uftaes wonferi &1 sam
(C) Toaa Sftaq 2 Hve

(D) 3 @t

TTEe i ATaATes fedfd 3t
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Non-optical aids are also known as
devices.

(A) Adaptive

(B) Indication

(C) Hlumination

(D) None of the above

One of the potential barriers that
individuals with low vision face when
trying to access low vision care, services
and technologies is

(A) Low vision care is time consummg
and not lucrative

Motivation among eye care
providers

Availability of low vision devices

Awareness and knowledge of
vision

(B)

(C)
(D)

A specific cane technique used by
travelers with visual impairments in
outdoor and unfamiliar indoor areas is
known as

(A) Diagonal technique

(B) Sighted guide technique
(C) Two point touch technique
(D) Constant contact technique

It gives rise to vision-related changes in
the skill and abilities and is measured
in terms of the skills - can or cannot
perform

(A) Visual impairment

(B) Visual disorder

(C) Visual disability

(D) None of the above

The act of using a cane to follow a
border by alternately touching the
surface being walked upon and the
differing surface material to the side

of the path is known as

(A) Squaring off (B) Trailing
(C) Shorelining (D) Descending

149.

150.

151.

152.

153.

Low Vision Rehabilitation Services
include

(A) Support services
(B) Disease diagnosis
(C) Counselling services
(D) All of the above

Which one of the following activities are
not included in physical education ?

(A) Free hand exercises

(B) Exercises with apparatus
(C) Track and field events
(D) Dances

The guide’s role is to identify obstacles
and hazards in the travel path and to

(A)
(B) Protect them from harm
(©)

Provide linkages

Guide the other person safely
around them

(D) Connect them to resources

_______ techniques are the primary
means of travel for some people who
are blind /visually impaired.

(A) Contact

(C) Practice

(B) Human guide
(D) Knowledge

The human guide techniques are often

among the first techniques
taught to new travelers.

(A) Mobility (B) Survival

(C) Primitive (D) Modern
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157.

158.

The guide gives regarding
relevant environmental features
(example telling the traveler on which
side of her the door opens)

(A) Verbal cues
(B) Non-verbal cues
(C) Both (A) and (B)
(D) Lecture

The most democratic style of teaching
useful for the interpretation of rules
and regulations of games, techniques
of performance and game strategies is
the

(A) Discussion method

(B) Problem solving method
(C) Guided discovery method
(D) Felt need method

is used for central visual field
assessment.

(A) Lea’s low contrast

(B) Fienbloom distance test
(C) Amsler chart manual
(D) Bailey-Hall Cereal test

The main aim of physical education is
(A) Boosting academics

(B) Gaining energy

(C) Development of mental health
(D) Indiscipline

help/helps to remove the
deformities in the body of a child.

(A) Games

(B) Rhythmics

(C) Corrective exercises
(D) Meditation

159.

160.

161.

162.

163.

The test used to assess the presence
or absence of a refractive error
improvement in vision

(A) Glare test

(B) Pinhole acuity test
(C) Colour vision test
(D) Amsler grid test

__ method is based on the theory
of learning by imitation.

(A) Command

(B) Reciprocal

(C) Demonstration

(D) Circuit

The most commonly screening test
done to evaluate the peripheral visual
field losses in different quadrants is
called the

(A) Tangent screen test
(B) Goldmann test

(C) Binocular test

(D) Confrontation test

Judo and Karate activities are
examples of

(A) Violence

(B) Self defense

(C) Retaliation

(D) None of the above

Gymnastics, leziums dance, mass
physical training and dumb bell are
activities necessary for

(A) Athletes

(B) Rhythm and balance
(C) Body building

(D) Strength and endurance
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165.

166.
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168.

It promotes a sound health, which
enables the individual to be the valuable
asset for the nation.

(A) Desirable habits
(B) Organic fitness
(C) Good practices
(D) Knowledge

The assessment of functional vision
aims to determine

(A) what people see

(B) how they can see and use their
vision

what conditions they can see
all of the above

(©)
(D)

Physical education helps in developing
and maintaining of good relations among
human beings, but it does not develop
one of the following social traits

(A) co-operation (B) fraternity

(C) loyalty (D) Pessimism

The ability to move joints and use
muscle through their full range of motion
is called

(A) Agility
(C) Flexibility

(B) Athletism
(D) Endurance

Factors that affects how well a person
sees

(A) Visual acuity

(B) Visual field

(C) Control of eye movements
(D) All of the above

169.

170.

171

172.

173.

174.

Benefits of physical fitness are

(A) Increased efficiency of heart and
lungs

(B) Reduced cholesterol levels
(C) Increased muscle strength
(D) All of the above

Which of the following cannot be
eliminated through physical activities ?

(A) Stress
(B) Tension
(C) Aggressiveness
(D) Phobia

Which one of the following is a teaching
method of physical education ?

(A) Discussion method
(B) Command method
(C) Demonstration method
(D) All of the above

Organizing a picnic, organizing a
short/long duration camp or organizing
athletic meet is an example of

in physical education.

(A) Command method

(B) Task method

(C) Demonstration method
(D) None of the above

Which of the following activity is
included in physical education ?

(A) Yoga (B) Rhythmics
(C) Gymnastics (D) Allof the above

This method has been used extensively
for weight-training, physical fitness
programmes and for the administration
of tests.

(A) Circuit method

(B) Guided discovery method
(C) Discussion method

(D) Problem solving method
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is essential before indulging in
any vigorous activity.
(A) Warming up
(B) Taking supplements
(C) Relaxation
(D) Sleep

___________ are objects, sounds, or
tactile or visual clues that are easily
recognized, are constant, and have
permanent locations in the environment
that give a traveler unique, specific
information about the individual’'s
location in space.

(A) Clues

(B) Symbols

(C) Landmarks
(D) Al of the above

A standard cane touch technique in
which the cane tip remains in contact
with the ground at all times is termed
as

(A) Constant contact technique
(B) Squaring off technique

(C) Sighted guide

(D) Touch technique

Low vision care is recognized as a
priority in “VISION 2020 5
programs.

(A) The Right to Live

(B) The Right to Sight

(C) The Right to Expression
(D) The Right to Good Health

179.

180.

181.

182.

It refers to conditions encompassing
the continuum from partial sight to
blindness.

(A) Low vision

(B) Vision impairment
(C) Blindness

(D) Visual acuity

Total absence of light or Visual acuity
not exceeding 6/60 or 20/200 (Snellen)
in the better eye with corrective lenses
or Visual field of an angle of 20° or
worse is termed as

(A) Blindness

(B) Low vision

(C) Visual acuity

(D) None of the above

are important epidemiological
tools to ascertain the magnitude of
blindness.

(A) Registries
(B)
(C)
(D)

Hospital Based Data
Reports
Population based surveys

The WHO recommends that population

based surveys should be used to collect

data on blindness because of the
and of survey findings.

(A) Reliability and accuracy

(B) Accuracy and practicality
(C) Specificity and reliability
(D) Sensitivity and responsiveness
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Low Vision can be promoted in
(A) Home based care

(B) School campaigns

(C) Cataract campaigns

(D) Trachoma campaigns

A major effort must be made at both
the pre and in-service levels of medical
education to sensitize the medical
community to low vision services and
to train them to make the appropriate
(A) Linkages

(B) Referrals

(C) Consultation

(D) None of the above

Children and adults experience severe
visual impairment which reduces/
restricts their ability to use vision to carry
out everyday functions with a negative
impact on their quality of life such as

(A)

(B)
(C)
(D)

independent living
education
employment

All of the above

Glaucoma in its early stages can
go unnoticed by the patient without
affecting abilities. This is an example of

(A) Visual impairment
(B) Visual disorder
(C) Visual disability
(D) None of the above

187.

188.

189.

190.

191.

This condition can be confirmed
by clinical test or electrodiagnostic
testing.

(A) Photophobia
(B) Oscillopsia
(C) Night blindness
(D) Metamorphopsia

One of the following is not a step in
assessing a child with visual impairment
and multiple disabilities

(A) Background data

(B) Psychosocial information

(C) Patient history and observation
(D) Judgement

Functional Assessment cannot be done
in which of these settings ?

(A) Home (B) School
(C) Community (D) Group

Rehabilitation helps a person with low
vision to overcome

(A) Mobility problems

(B) Performing vocational tasks
(C) Difficulty in reading-writing
(D) All of the above

Person either complains of abnormal
sensitivity to light or avoid high levels
of illumination recovery, from glare, is
slow and adaptation of light is difficult.
This condition is known as

(A) Metamorphopsia

(B) Night blindness

(C) Photophobia

(D) Oscillopsia
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193.

194.

195.

196.

It has Psychosocial and economic
consequences of visual loss. Skills of
the person gets hampered and giving
rise to barriers in the environment both
physical and social is called

(A) Visual handicap
(B) Visual disability
(C) Visual disorder
(D) Visual acuity

In low vision, contact lens is mainly
used for

(A) High myopia

(B) High hypermetropia
(C) Both (A) and (B)
(D) None of the above

Digital Clocks with LED displays and
Notex for identifying currency are

(A) Sensory substitution devices
(B) Mobility assistive devices
(C) Both (A) and (B)

(D) Technical assistive devices

Which of the following is/are examples
of Mobility Assistive Devices ?

(A) Foldable and non-foldable canes
(B) Dog guides

(C) Both (A) and (B)

(D) Braille writing

The test which can help to assess the
functional implications of color vision
loss

(A) Ishihara’s test
(B) Pelli Robson test
(C) Lea’s contrast test
(D) All of the above

197.

198.

199.

200.

Low vision assessment is a

procedure, at the conclusion of which,
the examiner should have a clear
perspective of what needs to be done.

(A) result oriented
(B) diagnose oriented
(C) study oriented
(D) None of the above

Retinitis pigmentosa is a common cause
for low vision in

(A) Children
(B) Adults
(C) Women
(D) Elderly

The tools for low vision assessment
are

(A) Halberg clips

(B) Long handled occluders
(C) Trial lens holder

(D) All of the above

Which of the following is required in
training for effective use of vision ?

(A) Stimulation of vision

(B) Visual efficiency

(C) Knowing when and how
(D) All of the above



192.

193.

194.

195.

196.

-37-

o+ 3 =l ¥ o awfee of enfde
gftorg & | =fF & Fee § S 3 Bt
2 fored sliftes v gl 2F1 waiar
1T 39 A FEATE |
(A) g ferepetrm

(B) g femam

(C) T fompm

(D) 3fee frevran

= gfe & wieee o9 e =
TN T 914 § |

(A) 3= O

(B) ﬁmq@ilﬁm

(C) (A) 3 (B) &

(D) 3 | | 15 &l

TeTEet wawish o A fefveet afeat sfv gz
YA & foe Ireaw §

(A) T JfeRTIT 39T

(B) TSR GRS STHT

(C) (A) 3R (B) 3

(D) aEF-ifeh TEre IUFH

f=fafiga & @ F9-91 TTTESaT GRS
IUFHTUT HT ISR & 7

(A) T34 I 3R 7 ged I ¥

(B) o Arfesieh (27 MEe)

(C) (A) 3 (B) 3w

(D) o &

% Tiregur it vt gfe i o e T
1 YT A § HETadl R HehdT ¢

(A) 3RTERT 1 Tl

(B) Ueeit T=raH iteqm

(C) it = fertiemenss wteqor
(D) 3aa aft

197.

198.

199.

200.

MKG-XXIX/TECHPMI/1T/04

=1 gt qeaa o w3 2,
s frerd o vhas = o T gfewm
2rar @ ik =0 @ =l |

(A) wfomiEt

(B) Fremrga

(C) s g@

(D) 3 T A FE T

Homfea iz d = gfe v
T AT FR0T R |

(A) ==

(B) Fa%F

(C) nfeamd

(D) I

o= gfte gearer 2 Sy &
(A) et fae

(B) @i Eeve ey

(C) Tl o Eeet

(D) e @it

71 3 o s g it 3 it
frafafgad g sm-ag ?

(A) gfe %1 3

(B) 3fte Frerar

(C) = 3R F& F=n

(D) 35 |+



MKG-XXIX/TECHPMI/1T/04 | FD 00 0000 0 000 0t

SPACE FOR ROUGH WORK

% &1E & foro v

-38-



A0 0 OO 0 0 MKG-XXIX/TECHPMI/1T/04

SPACE FOR ROUGH WORK
% T & Toe T

-39-



MKG-XXIX/TECHPMI/1T/04
IMPORTANT INSTRUCTIONS TO CANDIDATES

Iufigari & for wevagul sraRw

13. This booklet contains 40 pages.

14. Directions : Each question or incomplete

15,

17.

18.

19,

statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen
against the question concerned in the Answer
Sheet. (For V.H. candidates corresponding
circle will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each gquestion. The circle
should be shaded completely without leaving
any space. The correct method of shading is
given below.

Wrong Method || Wrong Method || Wrong Method || Correct Method|

O®00[C®0O0OI0C®0COI0eO 0

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. If
you biacken (@) more than one circle against
any one question, the answer will be treated
as wrong.

In case of any discrepancy between the
English and Hindi versions of any question,
the English version will be treated as final/
authentic.

Use the space for rough work given in the
Question Booklet only and not on the Answer
Sheet.

You are NOT required to mark your answers
inthis Booklet. All answers must be indicated
in the Answer Sheet only.
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